TARSD

== For vectorial summation of the current of several phases in a single voltage system.
== Maximum reference voltage for insulation: 0,72 kV / 3kV
== Fixing system: to DIN ralil

== |f the primary currents have different ratios,
specify the ratios when ordering )
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== The dimension of 105 mm correspond to a 6 DIN P-4
modules (17,5 mm each) a
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== These diagrams refer to a connection of one phase. In case of a 2 systems
connection (ARON) 2 summation CTs and 2 current transformers (one for phase L1
and one for phase L3) must be used. In case of 3 systems connection 3 summation
CTs and 3 current transformers (one for phase L1, one for phase L2 and one for
phase L3) must be used.
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